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x® 4 17x” +28x% - 754 x° = 2207 x* + 12341 x> + 19306 x* - 108388 x + 96040

Wolfram Alpha can Really Help! The WebAssign always wants you to expand these, because
it's mean and cruel!

Conjugate Pairs Theorem: If the polynomial has real coefficients, then any nonreal complex zeros
occur in conjugate pairs.

E]a;?E! Finding a Polynomial Function with
l"#" rf £y Given Zeros In Exercises 59-64, find a
: 134 polynomial function with real coefficients

that has the given zeros. (There are many

correct answers.)
59. 1,5
60, 4, —3i
61. 2,2,1 +i
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Finding all the zeros of a polynomial and factoring that polynomial.
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